

QUOTE PREPARED FOR:

Rossville-Alvin Comm UNIT SCHOOL DIST 7 ROSSVILLE, IL 60963 ACCOUNT NUMBER: 213760

SUBSCRIPTION/DIGITAL CONTACT:

Heath Kendrick kendrickh@rossville.k12.il.us

CONTACT:

Heath Kendrick kendrickh@rossville.k12.il.us

SALES REP INFORMATION:

Jacob Houston
jacob.houston@mheducation.com
614-430-4690

Section Summary		Value of All Materials	Free Materials	Product Subtotal
READING WONDERS 2017 - GRADE K		\$3,692.88	(\$457.38)	\$3,235.50
READING WONDERS 2017 - GRADE 1		\$21,500.28	(\$14,981.40)	\$6,518.88
READING WONDERS 2017 - GRADE 2		\$16,969.44	(\$12,460.89)	\$4,508.55
READING WONDERS 2017 - GRADE 3		\$9,443.07	(\$5,648.67)	\$3,794.40
READING WONDERS 2017 - GRADE 4		\$8,280.27	(\$5,648.67)	\$2,631.60
READING WONDERS 2017 - GRADE 5		\$8,717.34	(\$5,621.34)	\$3,096.00
Reading WonderWorks K-5		\$7,743.12	(\$7,743.12)	\$0.00
	PRODUCT TOTAL*	\$76,346.40	(\$52,561.47)	\$23,784.93
	ESTIMATED S&H**			\$1,189.25
	ESTIMATED TAX**			TBD
	GRAND TOTAL*			\$24,974.18

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:

5 % Shipping approved by manager Amanda Dempsey

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

04/05/2017

ACCOUNT NAME: Rossville-Alvin Comm

EXPIRATION DATE:

05/20/2017

QUOTE NUMBER:

JHOUS-04052017-004

ACCOUNT #: 213760

PAGE #:

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.



Product Description	ISIBN	Qty	Unit Price	Free Materials	Line Subtotal
READING WONDERS 2017 - GRADE K					
READING WONDERS NATIONAL KINDERGARTEN SYSTEM 6 YEAR SUBSCRIPTION BUNDLE GRADE K	978-0-02-140164-2	1	\$3,235.50	\$0.00	\$3,235.50
*THE FOLLOWING ITEMS ARE INCLUDED IN THE KIND	DERGARTEN SY	STEM			
*READING WONDERS READING WRITING WORKSHOP BIG BOOK PACKAGE GRADE K	978-0-02-139262-9	0	\$482.85	\$0.00	\$0.00
*READING WONDERS READING WRITING WORKSHOP PACKAGE GRADE K	978-0-02-137744-2	0	\$111.45	\$0.00	\$0.00
*READING WONDERS BIG BOOKS PACKAGE GRADE K	978-0-02-119336-3	0	\$1,563,69	\$0.00	\$0.00
*READING WONDERS TEACHER EDITION PACKAGE GRADE K	978-0-02-137803-6	0	\$569.82	\$0.00	\$0.00
*READING WONDERS FOR ENGLISH LEARNERS LANGUAGE TRANSFER HANDBOOK	978-0-02-139110-3	0	\$3.21	\$0.00	\$0.00
*READING WONDERS DECODABLE READER PACKAGE 10 OF 11 GRADE K	978-0-02-139257-5	0	\$922.38	\$0.00	\$0.00
*READING WONDERS LEVELED READER LIBRARY PACKAGE APPROACHING GRADE K	978-0-02-119334-9	0	\$938.43	\$0.00	\$0.00
*READING WONDERS LEVELED READER PACKAGE ON-LEVEL GRADE K	978-0-02-119490-2	0	\$938.43	\$0.00	\$0.00
*READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE K	978-0-02-119337-0	0	\$938.43	\$0.00	\$0.00
*READING WONDERS HIGH FREQUENCY WORD CARDS GRADE K	978-0-02-119290-8	0	\$60.87	\$0,00	\$0.00
*READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE K	978-0-02-119369-1	0	\$146.40	\$0.00	\$0.00
*READING WONDERS PHOTO CARDS GRADE K-2	978-0-02-119559-6	1 0	\$175.53	\$0.00	\$0.00
*READING WONDERS READING RESPONSE BOARDS GRADE K-1	978-0-02-119557-2	0	\$100.29	\$0.00	\$0.00
*READING WONDERS RETELLING CARDS GRADE K	978-0-02-119361-5	0	\$286.62	\$0.00	\$0.00
*READING WONDERS SOUND SPELLING LARGE CARDS GRADES K-6	978-0-07-676809-7	0	\$126.63	\$0.00	\$0.00
*READING WONDERS TEACHING POSTERS CHART GRADE K-1	978-0-02-119529-9	0	\$67.56	\$0.00	\$0.00
*READING WONDERS VISUAL VOCABULARY CARDS GRADE K	978-0-02-119368-4	0	\$69.45	\$0.00	\$0.00
*READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE K	978-0-02-119293-9	0	\$187.68	\$0.00	\$0.00
*READING WONDERS UNIT ASSESSMENT GRADE K	978-0-07-678582-7	0	\$108.87	\$0.00	\$0.00
*READING WONDERS BENCHMARK ASSESSMENT GRADE K	978-0-07-679246-7	0	\$65.73	\$0.00	\$0.00
*READING WONDERS PLACEMENT AND DIAGNOSTIC ASSESSMENT GRADE K-1	978-0-07-677954-3	0	\$80.04	\$0.00	\$0.00
*READING WONDERS STUDENT WORKSPACE 6 YEAR SUBSCRIPTION GRADE K	978-0-07-677334-3	0	\$127.35	\$0.00	\$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

04/05/2017

ACCOUNT NAME: Rossville-Alvin Comm

EXPIRATION DATE:

05/20/2017

QUOTE NUMBER:

JHOUS-04052017-004

ACCOUNT #: 213760

PAGE #:



Product Description	ISEN	Oity	Unit Price	Free Materials	Line Subtotal
*READING WONDERS TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE K	978-0-07-677437-1	0	\$569.82	\$0.00	\$0.00
*READING WONDERS CLOSE READING COMPANION GRADE K (20 Maximum)	978-0-02-130746-3	0	\$8.19	\$0.00	\$0.00
*READING WONDERS YOUR TURN PRACTICE BOOK GRADE K (20 Included)	978-0-07-677213-1	0	\$9.09	\$0.00	\$0.00
*THE FOLLOWING ITEMS ARE INCLUI	DED IN THE KINDERGA	RTEN SYS	TEM Subtotal:	\$0.00	\$0.00
ITEMS NOT INCLUDED IN KINDERGARTEN SYSTEM					
READING WONDERS CLOSE READING COMPANION GRADE K	978-0-02-130746-3	10	\$8.19	\$81.90	*Free Materials
READING WONDERS YOUR TURN PRACTICE BOOK GRADE K (ADDITIONAL COPIES)	978-0-07-677213-1	10	\$9.09	\$90.90	*Free Materials
READING WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	1	\$61.71	\$61.71	*Free Materials
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE K	978-0-02-138695-6	1	\$222.87	\$222.87	*Free Materials
ITEMS NOT IN	CLUDED IN KINDERGA	RTEN SYS	TEM Subtotal:	\$457.38	\$0.00
	READING WONDERS 2	017 - GRAI	DE K Subtotal:	\$457.38	\$3,235.50
READING WONDERS 2017 - GRADE 1					
STUDENT MATERIALS	1986 1886				
READING WONDERS COMPREHENSIVE PACKAGE 6 YEAR SUBSCRIPTION BUNDLE GRADE 1 (Includes: Close Rdg. Companion, Student Workspace, Literature Anthology, Rdg/Wrtg Workshop)	978-0-02-140168-0	36	\$181.08	\$0.00	\$6,518.88
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 1	978-0-07-678712-8	36	\$9.00	\$324.00	*Free Materials
	STUDE	NT MATER	IALS Subtotal:	\$324.00	\$6,518.88
BIG BOOKS					
CORE READING READING WRITING WORKSHOP BIG BOOK PACKAGE GRADE 1	978-0-02-127499-4	2	\$263.37	\$526.74	*Free Materials
READING WONDERS LITERATURE BIG BOOKS PACKAGE GRADE 1	978-0-02-119524-4	2	\$838.11	\$1,676.22	*Free Materials
		BIG BO	OKS Subtotal:	\$2,202.96	\$0.00
TEACHER MATERIALS					
READING WONDERS TEACHER EDITION PACKAGE GRADE 1	978-0-02-137804-3	2	\$569.82	\$1,139.64	*Free Materials
READING WONDERS TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 1	978-0-07-678165-2	2	\$569.82	\$1,139.64	*Free Materials
	TEACHE	R MATER	ALS Subtotal:	\$2,279.28	\$0.00
READERS					

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

04/05/2017

ACCOUNT NAME: Rossville-Alvin Comm

EXPIRATION DATE:

05/20/2017

QUOTE NUMBER:

JHOUS-04052017-004

ACCOUNT #: 213760

PAGE #:



Product Description	ISEN	Qty	Unit Priles	Free Materials	Line Subject
READING WONDERS STUDENT WEEKLY ASSESSMENT GRADE 2	978-0-07-676470-9	2	\$55.32	\$110.64	*Free Materials
READING WONDERS UNIT ASSESSMENT GRADE 2	978-0-07-678649-7	2	\$88.86	\$177.72	*Free Materials
READING WONDERS BENCHMARK ASSESSMENT GRADE 2	978-0-07-679861-2	2	\$139.50	\$279.00	*Free Materials
READING WONDERS PLACEMENT AND DIAGNOSTIC ASSESSMENT GRADE K-1	978-0-07-677954-3	2	\$80.04	\$160.08	*Free Materials
		ASSESSM	ENT Subtotal:	\$727.44	\$0.00
	READING WONDERS 2	2017 - GRA	DE 2 Subtotal:	\$12,460.89	\$4,508.55
READING WONDERS 2017 - GRADE 3					
STUDENT MATERIALS					
READING WONDERS COMPREHENSIVE PACKAGE 6 YEAR SUBSCRIPTION BUNDLE GRADE 3 (Includes: Close Rdg. Companion, Student Workspace, Literature Anthology, Rdg/Wrtg Workshop)	978-0-02-145517-1	34	\$111.60	\$0.00	\$3,794.40
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 3	978-0-07-677467-8	34	\$9.09	\$309.06	*Free Materials
	STUDE	NT MATERI	ALS Subtotal:	\$309.06	\$3,794.40
TEACHER MATERIALS					
READING WONDERS TEACHER EDITION PACKAGE GRADE 3	978-0-02-137740-4	T 1	\$569.82	\$569.82	*Free Materials
READING WONDERS TEACHER WORKSPACE 6 YEAR					
SUBSCRIPTION GRADE 3	978-0-07-680517-4	1	\$569.82	\$569.82	*Free Materials
	TEACH	ER MATERI	ALS Subtotal:	\$1,139.64	\$0.00
<u>READERS</u>					
READING WONDERS LEVELED READER LIBRARY PACKAGE APPROACHING GRADE 3	978-0-02-119195-6	1	\$938.43	\$938.43	*Free Materials
READING WONDERS LEVELED READER LIBRARY PACKAGE ON- LEVEL GRADE 3	978-0-02-118623-5	1	\$938.43	\$938.43	*Free Materials
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 3	978-0-02-118624-2	1	\$938.43	\$938.43	*Free Materials
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 3	978-0-02-138703-8	1	\$280.26	\$280.26	*Free Materials
		READ	ERS Subtotal:	\$3,095.55	\$0.00
MANIPULATIVES					
READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 3-6	978-0-02-118820-8	1 1	\$122.82	\$122.82	*Free Materials
READING WONDERS - LEVELED READER LESSON CARDS GRADE 3	978-0-02-129207-3	1	\$72.12	\$72.12	*Free Materials
READING WONDERS READING RESPONSE BOARDS GRADE 2-6	978-0-02-118963-2	1 1	\$100.29	\$100.29	*Free Materials
	978-0-07-676809-7	1	\$126.63	\$126.63	*Free Materials

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

04/05/2017

ACCOUNT NAME: Rossville-Alvin Comm

EXPIRATION DATE: 05/20/2017

QUOTE NUMBER:

JHOUS-04052017-004

ACCOUNT #: 213760

PAGE #:



Product Description	ISIBN	Oty	Unit Price	Free Materials	Line Subtotal
READING WONDERS DECODABLE READER PACKAGE 6 OF 6 GRADE 1	978-0-02-139258-2	2	\$342.99	\$685.98	*Free Materials
READING WONDERS LEVELED READER PACKAGE APPROACHING GRADE 1	978-0-02-119561-9	2	\$938.43	\$1,876.86	*Free Materials
READING WONDERS LEVELED READER PACKAGE ON-LEVEL GRADE 1	978-0-02-119577-0	2	\$938.43	\$1,876.86	*Free Materials
READING WONDERS LEVELED READER PACKAGE BEYOND GRADE 1	978-0-02-119662-3	2	\$938,43	\$1,876.86	*Free Materials
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 1	978-0-02-138698-7	2	\$222.87	\$445.74	*Free Materials
		READ	ERS Subtotal:	\$6,762.30	\$0.00
MANIPULATIVES					
READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 1	978-0-02-119558-9	T 2	\$122.82	\$245.64	*Free Materials
READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 1	978-0-02-119539-8	2	\$126.06	\$252.12	*Free Materials
READING WONDERS LEVELED READER LESSON CARDS GRADE 1	978-0-02-129205-9	2	\$72.12	\$144.24	*Free Materials
READING WONDERS PHOTO CARDS GRADE K-2	978-0-02-119559-6	2	\$175.53	\$351.06	*Free Materials
READING WONDERS READING RESPONSE BOARDS GRADE K-1	978-0-02-119557-2	2	\$100.29	\$200.58	*Free Materials
READING WONDERS RETELLING CARDS GRADE 1	978-0-02-119538-1	2	\$286.62	\$573.24	*Free Materials
READING WONDERS SOUND SPELLING LARGE CARDS GRADES K-6	978-0-07-676809-7	2	\$126.63	\$253.26	*Free Materials
READING WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	2	\$61.71	\$123.42	*Free Materials
READING WONDERS TEACHING POSTERS CHART GRADE K-1	978-0-02-119529-9	2	\$67.56	\$135.12	*Free Materials
READING WONDERS VISUAL VOCABULARY CARDS GRADE 1	978-0-02-119537-4	2	\$69.45	\$138.90	*Free Materials
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 1	978-0-02-119521-3	2	\$187.68	\$375.36	*Free Materials
	MA	NIPULATI	VES Subtotal:	\$2,792.94	\$0.00
ASSESSMENT					
READING WONDERS STUDENT WEEKLY ASSESSMENT GRADE 1	978-0-07-677314-5	T 2	\$55.32	\$110.64	*Free Materials
READING WONDERS UNIT ASSESSMENT GRADE 1	978-0-07-680420-7	2	\$108.87	\$217.74	*Free Materials
READING WONDERS BENCHMARK ASSESSMENT GRADE 1	978-0-07-679201-6	2	\$65.73	\$131.46	*Free Materials
READING WONDERS PLACEMENT AND DIAGNOSTIC ASSESSMENT GRADE K-1	978-0-07-677954-3	2	\$80.04	\$160.08	*Free Materials
		ASSESSM	ENT Subtotal:	\$619.92	\$0.00
READING WONDERS 2017 - GRADE 1 Subtotal:					\$6,518.88
READING WONDERS 2017 - GRADE 2					
STUDENT MATERIALS					

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

04/05/2017

ACCOUNT NAME: Rossville-Alvin Comm

EXPIRATION DATE: 05/20/2017

QUOTE NUMBER:

JHOUS-04052017-004

ACCOUNT #: 213760

PAGE #:



Product Description	ISBN	Olty	Unit Price	Free Materials	Line Subtotal
READING WONDERS COMPREHENSIVE PACKAGE 6 YEAR SUBSCRIPTION BUNDLE GRADE 2 (Includes: Close Rdg. Companion, Student Workspace, Literature Anthology, Rdg/Wrtg Workshop)	978-0-02-140169-7	43	\$104.85	\$0.00	\$4,508.55
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2	978-0-07-680721-5	43	\$9.09	\$390.87	*Free Materials
	STUDE	NT MATER	IALS Subtotal:	. \$390.87	\$4,508.55
TEACHER MATERIALS					
READING WONDERS TEACHER EDITION PACKAGE GRADE 2	978-0-02-137739-8	2	\$569.82	\$1,139.64	*Free Materials
READING WONDERS TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 2	978-0-07-677956-7	2	\$569.82	\$1,139.64	*Free Materials
	TEACHE	R MATER	IALS Subtotal:	\$2,279.28	\$0.00
<u>READERS</u>					
READING WONDERS DECODABLE READER PACKAGE 6 OF 6 GRADE 2	978-0-07-666171-8	2	\$393.81	\$787.62	*Free Materials
READING WONDERS LEVELED READER LIBRARY PACKAGE APPROACHING GRADE 2	978-0-02-118672-3	2	\$938.43	\$1,876.86	*Free Materials
READING WONDERS LEVELED READER LIBRARY PACKAGE ON- LEVEL GRADE 2	978-0-02-119051-5	2	\$938.43	\$1,876.86	*Free Materials
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 2	978-0-02-119052-2	2	\$938.43	\$1,876.86	*Free Materials
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 2	978-0-02-138699-4	2	\$280.26	\$560.52	*Free Materials
		READ	ERS Subtotal:	\$6,978.72	\$0.00
MANIPULATIVES					
READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 2	978-0-02-119022-5	2	\$122.82	\$245.64	*Free Materials
READING WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2	978-0-02-118777-5	2	\$126.06	\$252.12	*Free Materials
READING WONDERS - LEVELED READER LESSON CARDS GRADE 2	978-0-02-129206-6	2	\$72.12	\$144.24	*Free Materials
READING WONDERS PHOTO CARDS GRADE K-2	978-0-02-119559-6	2	\$175.53	\$351.06	*Free Materials
READING WONDERS READING RESPONSE BOARDS GRADE 2-6	978-0-02-118963-2	2	\$100.29	\$200.58	*Free Materials
READING WONDERS SOUND SPELLING LARGE CARDS GRADES K-6	978-0-07-676809-7	2	\$126.63	\$253.26	*Free Materials
READING WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	2	\$61.71	\$123.42	*Free Materials
READING WONDERS VISUAL VOCABULARY CARDS GRADE 2	978-0-02-118925-0	2	\$69.45	\$138.90	*Free Materials
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 2	978-0-02-118699-0	2	\$187.68	\$375.36	*Free Materials
	M	IANIPULAT	IVES Subtotal:	\$2,084.58	\$0.00
ASSESSMENT	IV	MINITULAI	iveo oublotal.	φ2,004.30	\$0.0

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

04/05/2017

ACCOUNT NAME: Rossville-Alvin Comm

EXPIRATION DATE:

05/20/2017

QUOTE NUMBER:

JHOUS-04052017-004

ACCOUNT #: 213760

PAGE #:



Product Description	REN	Giy	Unit Price	ree Materials	ine Subtotal
READING WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	1	\$61.71	\$61.71	*Free Materials
READING WONDERS VISUAL VOCABULARY CARDS GRADE 3	978-0-02-118782-9	 	\$69,45	\$69.45	*Free Materials
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 3	978-0-02-119164-2	1	\$187.68	\$187.68	*Free Materials
		/ANIPULATI	VES Subtotal:	\$740.70	\$0.00
ASSESSMENT					
READING WONDERS STUDENT WEEKLY ASSESSMENT GRADE 3	978-0-07-677218-6	1 1	\$55.32	\$55.32	*Free Materials
READING WONDERS UNIT ASSESSMENT GRADE 3	978-0-07-678338-0	1	\$88.86	\$88.86	*Free Materials
READING WONDERS BENCHMARK ASSESSMENT GRADE 3	978-0-07-678794-4	11	\$139.50	\$139.50	*Free Materials
READING WONDERS PLACEMENT AND DIAGNOSTIC ASSESSMENT GRADE K-1	978-0-07-677954-3	1	\$80.04	\$80.04	*Free Materials
		ASSESSM	ENT Subtotal:	\$363.72	\$0.00
	READING WONDERS	2017 - GRA	DE 3 Subtotal:	\$5,648.67	\$3,794.40
READING WONDERS 2017 - GRADE 4	45 (24)				
STUDENT MATERIALS					
READING WONDERS COMPREHENSIVE PACKAGE 6 YEAR SUBSCRIPTION BUNDLE GRADE 4 (Includes: Close Rdg. Companion, Student Workspace, Literature Anthology, Rdg/Wrtg Workshop)	978-0-02-145518-8	34	\$77.40	\$0.00	\$2,631.60
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 4	978-0-07-678513-1	34	\$9.09	\$309.06	*Free Materials
	STUDI	ENT MATER	IALS Subtotal:	\$309.06	\$2,631.60
TEACHER MATERIALS					
READING WONDERS TEACHER EDITION PACKAGE GRADE 4	978-0-02-137741-1	1	\$569.82	\$569.82	*Free Materials
READING WONDERS TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 4	978-0-07-680218-0	1	\$569.82	\$569.82	*Free Materials
	TEACH	IER MATER	IALS Subtotal:	\$1,139.64	\$0.00
READERS					
READING WONDERS LEVELED READER LIBRARY PACKAGE APPROACHING GRADE 4	978-0-02-118747-8	1	\$938.43	\$938.43	*Free Materials
READING WONDERS LEVELED READER LIBRARY PACKAGE ON- LEVEL GRADE 4	978-0-02-119218-2	1	\$938.43	\$938.43	*Free Materials
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 4	978-0-02-118600-6	1	\$938.43	\$938.43	*Free Materials
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 4	978-0-02-138742-7	1	\$280.26	\$280.26	*Free Materials
		READ	FRS Subtotal:	\$3 095 55	\$0.00
MANIPULATIVES		READ	ERS Subtotal:	\$3,095.55	\$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

04/05/2017

ACCOUNT NAME: Rossville-Alvin Comm

EXPIRATION DATE:

05/20/2017

QUOTE NUMBER:

JHOUS-04052017-004

ACCOUNT #: 213760

PAGE #:



Product Description	ISBN	Oty	Unit Price	Free Materials	Line Subtotal
READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 3-6	978-0-02-118820-8	1	\$122.82	\$122.82	*Free Materials
READING WONDERS - LEVELED READER LESSON CARDS GRADE 4	978-0-02-129208-0	1	\$72.12	\$72.12	*Free Materials
READING WONDERS READING RESPONSE BOARDS GRADE 2-6	978-0-02-118963-2	1	\$100.29	\$100.29	*Free Materials
READING WONDERS SOUND SPELLING LARGE CARDS GRADES K-6	978-0-07-676809-7	1	\$126.63	\$126.63	*Free Materials
READING WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	1	\$61.71	\$61.71	*Free Materials
READING WONDERS VISUAL VOCABULARY CARDS GRADE 4	978-0-02-118697-6	1	\$69.45	\$69.45	*Free Materials
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 4	978-0-02-118695-2	1	\$187.68	\$187.68	*Free Materials
		MANIPULATI	VES Subtotal:	\$740.70	\$0.00
ASSESSMENT					
READING WONDERS STUDENT WEEKLY ASSESSMENT GRADE 4	978-0-07-680141-1	1 1	\$55.32	\$55.32	*Free Materials
READING WONDERS UNIT ASSESSMENT GRADE 4	978-0-07-677055-7	1	\$88.86	\$88.86	*Free Materials
READING WONDERS BENCHMARK ASSESSMENT GRADE 4	978-0-07-679416-4	11	\$139.50	\$139.50	*Free Materials
READING WONDERS PLACEMENT AND DIAGNOSTIC ASSESSMENT GRADE K-1	978-0-07-677954-3	1	\$80.04	\$80.04	*Free Materials
		ASSESSM	ENT Subtotal:	\$363.72	\$0.00
	READING WONDER	S 2017 - GRA	DE 4 Subtotal:	\$5,648.67	\$2,631.60
READING WONDERS 2017 - GRADE 5					
STUDENT MATERIALS					
READING WONDERS COMPREHENSIVE PACKAGE 6 YEAR					
SUBSCRIPTION BUNDLE GRADE 5 (Includes: Close Rdg. Companion, Student Workspace, Literature Anthology, Rdg/Wrtg Workshop)	978-0-02-145522-5	40	\$77.40	\$0.00	\$3,096.00
Student Workspace, Literature Anthology, Rdg/Wrtg Workshop)		40			
Student Workspace, Literature Anthology, Rdg/Wrtg Workshop)	978-0-07-677924-6	40	\$77.40 \$9.09 IALS Subtotal:	\$0.00 \$363.60 \$363.60	\$3,096.00 *Free Materials \$3,096.00
Student Workspace, Literature Anthology, Rdg/Wrtg Workshop) READING WONDERS YOUR TURN PRACTICE BOOK GRADE 5	978-0-07-677924-6	40	\$9.09	\$363.60	*Free Materials
Student Workspace, Literature Anthology, Rdg/Wrtg Workshop) READING WONDERS YOUR TURN PRACTICE BOOK GRADE 5 TEACHER MATERIALS	978-0-07-677924-6	40	\$9.09	\$363.60	*Free Materials
Student Workspace, Literature Anthology, Rdg/Wrtg Workshop) READING WONDERS YOUR TURN PRACTICE BOOK GRADE 5	978-0-07-677924-6 STUI 978-0-02-137742-8	40 DENT MATERI	\$9.09 IALS Subtotal: \$569.82	\$363.60 \$363.60 \$569.82	*Free Materials \$3,096.00 *Free Materials
Student Workspace, Literature Anthology, Rdg/Wrtg Workshop) READING WONDERS YOUR TURN PRACTICE BOOK GRADE 5 TEACHER MATERIALS READING WONDERS TEACHER EDITION PACKAGE GRADE 5 READING WONDERS TEACHER WORKSPACE 6 YEAR	978-0-07-677924-6 STUI	40 DENT MATERI	\$9.09 IALS Subtotal:	\$363.60 \$363.60	*Free Materials \$3,096.00
Student Workspace, Literature Anthology, Rdg/Wrtg Workshop) READING WONDERS YOUR TURN PRACTICE BOOK GRADE 5 TEACHER MATERIALS READING WONDERS TEACHER EDITION PACKAGE GRADE 5 READING WONDERS TEACHER WORKSPACE 6 YEAR	978-0-07-677924-6 STUI 978-0-02-137742-8 978-0-07-678039-6	40 DENT MATERI 1 1	\$9.09 IALS Subtotal: \$569.82	\$363.60 \$363.60 \$569.82	*Free Materials \$3,096.00 *Free Materials
Student Workspace, Literature Anthology, Rdg/Wrtg Workshop) READING WONDERS YOUR TURN PRACTICE BOOK GRADE 5 TEACHER MATERIALS READING WONDERS TEACHER EDITION PACKAGE GRADE 5 READING WONDERS TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 5	978-0-07-677924-6 STUI 978-0-02-137742-8 978-0-07-678039-6	40 DENT MATERI 1 1	\$9.09 ALS Subtotal: \$569.82 \$569.82	\$363.60 \$363.60 \$569.82 \$569.82	*Free Materials \$3,096.00 *Free Materials *Free Materials
Student Workspace, Literature Anthology, Rdg/Wrtg Workshop) READING WONDERS YOUR TURN PRACTICE BOOK GRADE 5 TEACHER MATERIALS READING WONDERS TEACHER EDITION PACKAGE GRADE 5	978-0-07-677924-6 STUI 978-0-02-137742-8 978-0-07-678039-6	40 DENT MATERI 1 1	\$9.09 ALS Subtotal: \$569.82 \$569.82	\$363.60 \$363.60 \$569.82 \$569.82	*Free Materials \$3,096.00 *Free Materials *Free Materials

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

04/05/2017

ACCOUNT NAME: Rossville-Alvin Comm

EXPIRATION DATE:

05/20/2017

QUOTE NUMBER:

JHOUS-04052017-004

ACCOUNT #: 213760

PAGE #:



Product Description	ISBN	e) iy	Unit Price	Free Materials	Line Subtotal
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 5	978-0-02-119370-7	1	\$938.43	\$938.43	*Free Materials
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 5	978-0-02-138743-4	1	\$280.26	\$280.26	*Free Materials
		READ	ERS Subtotal:	\$3,095.55	\$0.00
MANIPULATIVES					
READING WONDERS HIGH FREQUENCY WORD CARDS GRADE 3-6	978-0-02-118820-8	1	\$122.82	\$122.82	*Free Materials
READING WONDERS - LEVELED READER LESSON CARDS GRADE 5	978-0-02-129209-7	1	\$72.12	\$72.12	*Free Materials
READING WONDERS READING RESPONSE BOARDS GRADE 2-6	978-0-02-118963-2	1 1	\$100.29	\$100.29	*Free Materials
READING WONDERS SOUND SPELLING LARGE CARDS GRADES K-6	978-0-07-676809-7	1	\$126.63	\$126.63	*Free Materials
READING WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	1	\$61.71	\$61.71	*Free Materials
READING WONDERS VISUAL VOCABULARY CARDS GRADE 5	978-0-02-119230-4	1 1	\$69.45	\$69.45	*Free Materials
READING WONDERS WORKSTATION ACTIVITY CARDS PACKAGE GRADE 5	978-0-02-119325-7	1	\$187.68	\$187.68	*Free Materials
	M	ANIPULAT	VES Subtotal:	\$740.70	\$0.00
ASSESSMENT					
READING WONDERS STUDENT WEEKLY ASSESSMENT GRADE 5	978-0-07-679530-7	T 1	\$55.32	\$55.32	*Free Materials
READING WONDERS UNIT ASSESSMENT GRADE 5	978-0-07-677801-0	1	\$55.92	\$55.92	*Free Materials
READING WONDERS BENCHMARK ASSESSMENT GRADE 5	978-0-07-678305-2	1	\$90.57	\$90.57	*Free Materials
READING WONDERS PLACEMENT AND DIAGNOSTIC ASSESSMENT GRADE K-1	978-0-07-677954-3	1	\$80.04	\$80.04	*Free Materials
		ASSESSM	ENT Subtotal:	\$281.85	\$0.00
	READING WONDERS 2017 - GRADE 5 Subtotal:			\$5,621.34	\$3,096.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

04/05/2017

ACCOUNT NAME: Rossville-Alvin Comm

EXPIRATION DATE:

05/20/2017

QUOTE NUMBER:

JHOUS-04052017-004

ACCOUNT #: 213760

PAGE #:



Product Description	IGEN	Otty	Unit Price	Free Materials	Line Subtotel
Reading WonderWorks K-5					
READING WONDERWORKS KIT 6 YEAR SUBSCRIPTION GRADE K	978-0-02-129706-1	1 1	\$927.75	\$927.75	*Free Materials
READING WONDERWORKS KIT 6 YEAR SUBSCRIPTION GRADE 1	978-0-02-129704-7	1	\$927.75	\$927.75	*Free Materials
READING WONDERWORKS KIT 6 YEAR SUBSCRIPTION GRADE 2	978-0-02-129707-8	1	\$1,635.81	\$1,635.81	*Free Materials
READING WONDERWORKS KIT 6 YEAR SUBSCRIPTION GRADE 3	978-0-02-129708-5	- 1	\$1,635.81	\$1,635.81	*Free Materials
READING WONDERWORKS KIT 6 YEAR SUBSCRIPTION GRADE 4	978-0-02-129709-2	1	\$1,308.00	\$1,308.00	*Free Materials
READING WONDERWORKS KIT 6 YEAR SUBSCRIPTION GRADE 5	978-0-02-129710-8	1	\$1,308.00	\$1,308.00	*Free Materials

Reading WonderWorks K-5 Subtotal:

\$7,743.12

\$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

04/05/2017

ACCOUNT NAME: Rossville-Alvin Comm

EXPIRATION DATE:

05/20/2017

QUOTE NUMBER:

JHOUS-04052017-004

ACCOUNT #: 213760

PAGE #:



QUOTE PREPARED FOR:

Rossville-Alvin Comm UNIT SCHOOL DIST 7 ROSSVILLE, IL 60963 ACCOUNT NUMBER: 213760

CONTACT:

Heath Kendrick kendrickh@rossville.k12.il.us

GRAND TOTAL	\$24,974.18
ESTIMATED TAX**	TBD
ESTIMATED SHIPPING & HANDLING**	\$1,189.25
PRODUCT TOTAL*	\$23,784.93
FREE MATERIALS	(\$52,561.47)
VALUE OF ALL MATERIALS	\$76,346.40

SUBSCRIPTION/DIGITAL CONTACT:

Heath Kendrick kendrickh@rossville.k12.il.us

C	om	me	ent	s.

5	%	Shipping	approved b	y manager .	Amanda l	Dempsev	V

- Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.
- **Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service. Subject to Subscriber's payment of the fees set out above, McGraw-Hill School Education, LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the <u>Terms of Service</u>. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mhecoast2coast.com).

School Purchase Order Number:	
Name of School Official (Please Print)	Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

04/05/2017

ACCOUNT NAME: Rossville-Alvin Comm

EXPIRATION DATE:

05/20/2017

QUOTE NUMBER:

JHOUS-04052017-004

ACCOUNT #: 213760

PAGE #: